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Corporate Tax Planning and Management
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te ' sS sr+i d srq frfuq I qlfr yrrl d eio sqn t t

Note: Answer all questions. All Question carry equal marks.

1.

Erd /unit-I

ftquft ftTfuq : Write short Note :

(i) EiErfr o-{ gT ft{-q or (Corporation Tax)
(iD Oq fOU lfax Management)
(iii) oT tfzl{l (Tax Evasion)

3{e[rIT / OR

or Frfrs{ trqr t? 6{ ffiqq d qrs \q €qrcif or quh dfuq r

What is Tax Planning? Explain the importance and limitation of Tax Planning.

{o.d /unit-rr
qrqr{ sTQtclr tq} t dFT A eio-.f-o ww sq t frqd o-dM or qufq

qftFsq 
I

Explain the Deductions Expressly Allowed under the head of income from business

or Profession' 
gIeIqT / oR

co. ACS p\4. Ltd. i gr.os.zole o-I srIIqT *i qrA qS t HqBfl fttn qafl\
fr:
1. srrrFr( sTtrfuqq d srqqrql d ergwn rrutql o1 .r$ e-a enq s. 2o,oo,ooo

2. drq-ElB fff{q d ergwr< am s. 50,00,000

3. (A) drq-Erh fitrd{ul q frq +r( Debit frri .rt e} 
'(a) 3l-{41 d fuq qFIErq

(b) drqiYr f{f,wr q{ zF{

(c) GrrcerFra or d frq qrqETE

(d) sfd1ft *iard6r{ o-{
(e) fiqifu-fi Tsto.q d smm w nqre d fuq uFIEIFI

(f) dBa drqivr
(e) qE enu srftfu o{i d ftq qq
(h) 6rs Fsq 2,oo,ooo ETn qqfui A 5+$-oton(t rrEBd ars qrkiT t)

(B) drq-ErB fff,{ur d Credit fr qu r<'
(a) frtq $Tq t oiilq
(b) qft uru
(c) ftd oren ffi em srtl 1o(ea) fr o'( Tff

4. tsr gqilo1 fr GTri El-g .r$ Erh
5. Aut Twof q onn drrr rl-ql ErtI
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sTrq frq of Tqqr otfug :

(a) qffi Anr tq 3T1q-d'1 |

(b) Taxcreditd ent d qrfl cTI rlfitTT t, qR t drt
Co. ACS Ltd. Has provided the following information for the year ended

31.03.2019.

1. The total income computed as per provision of the income tax Act. 20,00,000/-

2. Profit as per statement of profit and loss 50,00,000/-

3. (A) Item debited to statement of profit & loss:

(a) Provision for income tax
(b) Dividend distribution tax
(c) Provision for deferred tax
(d) Securies transactioq tax
(e) Provision for gratuity on actuarial valuation
(f) Dividend declared

(g) Expenditure to earn agricultural income

(h) Depreciation
(This includes depreciation of 200000/- on

revaluation of assets)

(B) Item credited to statement of profit & loss:

(a) Transfer from special reserve

(b) Agricultural income

(c) Long term capital Gain exempt U/S l0 (38)

4. Brought forward business loss as per books of account:

5. Brought forward depreciation as per books of account:

You are required to compute:
(a) Tax payable by the company

(b) Tax credit to be carried forward, if any.
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{6.r{ /Unit-III

3. m orcrffii t HqRrd il Fr+qq d srqqn corgq t

Explain the tax planning provisions in respect of shipping companies.

3T:mr / oR

GTrrrcrq erEf+qq of erm r2A of sq yrdT o) qf,r{q ffi T{l
\drqil qrqfr \'fr1-o-{ur e}i qffi oqft of qrun o1 dfuf,
oiyilkd Erfl o\ sil-n d uTrcr( nffi or sofr t'r
Explain the conditions u/s 72A of the income tax Act according to which the

amalgamated company can carry-forward and set-off accumulated business losses

and unabsorbed depreciation of an amalgamating company.

{.F.r$ /unir-rv
4. futq oa srqErr"T Tqr t? ffi A ftN or ETIq-Errt?Ff,I 01 Tqi olfuq t

What are special tax provisions? Discuss the tax incentives for exporters.

o-Ei w
E[fr darr



3lerfl / oR

M et d tr*rer t oq qFIETt-{ tht fuil{qT otfuq I

Explain the tax provisions in respect of backward areas.

{or$ /unit-v

5. oR A rir6 t enq rqr s{flt B? qq fiil{T t erF{t 206c d H-+rrq} 4-t qe}q

fr q'fq mHq I

What do you understand by collection of tanes? In this connection briefly describe

the provision of section 206C.

sTEI-qT / OR

ft€( o veugv fr (q+r{cqr zs drq t sTkr) 1rf, orrfr q 6ffi t I

ffiq q{ zore-1e ii T6 frq vrq qfor:
tfl{
qgrr$ .rmt
+{fl
q@) of RTeTr A ftrq qETT-150s. qft qra vo' vd d fuq t fu-trqr Tff €i
{l qfrTq, sfda furrql {fl 1,50,0008 F-w fr s{r6-l otvril{
e6,ooo sfr q{ t'r ssi erqi fifi rN 12,ooo s. ff+q ftqr frfuqq gufl-ql I

wTrqEi* {l-sq rr6rrr-cTT o}q o} 1o,ooo s. <FI ltrt I g{Tfrt a-ffi t enq ot
r-uET etFdq fus w sflt-q rel"T qt or ot oelft dfr 

"TEq 
derr ori

qrft or of vfu .ft sro otfuq t

Mr. D is an employee of a company at Udaipur (population exceeding 25 lakh). He

would receive the following during financial year 2018-19:

Salary

Dearness Allowance
Bonus

Children education allowance 150 p.m. for one child. Rent-free house, FRV
1,50,000/-.His contribution to provident fund is 96,000 p.a. He has paid life
insurance premium of 12,0001- on his own life. Donation to prime Minister's

National Relief fund 10,000/-. Compute his income from salary liable to deduction

of tax at source and the amount of tax to be deducted.

5. 9,60,000

2,40,000

80,000

9,60,000

2,40,000

80,000


